120

100

80

60

40

20

20000

18000

16000

14000

12000

10000

8000

6000

4000

2000

X
fay
(=}

Run 4353 mpswise, accO: All

Entries: 1280031

Mean: 7.9741 +/- 0.0026

Std Dev: 2.8977 +/- 0.0018

20
Acc0/NAccO

Run 4353 mpswise, acc0: Beam ON, Laser ON

Helicity==
— Helicity==1

Entries: 396044

Mean: 9.7214 +/- 0.0009

Std Dev: 0.5807 +/- 0.0007
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Run 4353 mpswise, acc0: Beam OFF

Entries: 140740

Mean: 0.8738 +/- 0.0007

Std Dev: 0.2553 +/- 0.0005

25
AccO/NAccO

Run 4353 mpswise, accO: Beam ON, Laser OFF

Helicity==
— Helicity==1

Entries: 140706

Mean: 7.2793 +/- 0.0013

Std Dev: 0.5046 +/- 0.0010
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